»rwfm £ 2% BT MAK RER $47%
ECE BT R N
2R %&IRP6_03




MRRTE
ZRERE
Tl

1%



i B

» BIRBEEEL X/ RENRITEESFHAEE
G ° MPIEXREZHARBMIRAK /D ~ HE ~ RITH

E -~ {TBNEFRER -

» RPIFEITEER » BEWIRARITREIE » 1§46
RXIERER - BHBERERAIER -

Ll
L]

A

It

=

=



FE

» MK EESEDWIREERSE - BRHAEMT
YRR

» MR EEBERSRARH WIRAIRF IR - &K
Pt 183 T A2 FFE !

L — |
=
==

[IE




PEEEE

» HER

::I:
{H

: 20145£4 A17H

» Hu Bk
» IR
» KR
» #RY

IWEESERE JERFAL
TF3IFEA

fi B

TH

At




"'H\

s
K S

3
m %

a3 O\
5

X

W>K)

=3

—
=l

BN Sl BN S
ZIN ZIN

&/ & ® &
{&

2-3 % 1-2F 1%



Zz82HE (KEILTE)

» BREREY R/ NESE ELLE Y - MR EESE
107EHESEAR @ BAEFERE » fTAMAR
PEBIRNRESE - WIREFER > ANEER
1781 - ARVRISREEITE » LB - BIRERITH -
ER(EIMAK) FILRE » EEEEE=X &
RIE RGN E - BERIR MR - BIES R DES
SHHEMN - ARBIRRITERERIR - HIARIETE
PraR MR mig - B ET A S AN S B I




A

» W bte S
T 1 3 s kiR RO SV R
58 R THEGE2BFEIRA

5] BY

FEER

5 £ 1

hmiEE A AR KR

RRRVEMLIRK - ME—RIBARR

» BB+ SEE ) RESZURBASE @ TBEEMH
BARRIGE—RMAE S ENE R - 52 HEH e Wi

AR TT -




& [
SR IE MR AW AR - R
— R 2 AT -

b ;;_ﬁﬂﬂ%ﬁﬂ’]ﬁﬁk DREA ~ Z)HHER -~ 4HEA - FORRHR
s éﬁ?@—a‘ilﬁtj  BIRSRMERBEER - FLEE
EFR=FET - NLBEYBEANEBEFTLZ KA -
XREET - ERERIBIRNFRE - BIENFIREE

g > MERNERLTREES @ TR - £Z5

11U|




&%

» JNEEHR P AT AR BRSNS - REIXRZE - et fi—
ERRE—R > SESZENEF - BN
SEH - MPISXHEREKE > REMIRHE
?ﬁﬁ » SERUERIERRIEw -

BRRYBARE  FEESKEEGR - X
EIJT?)EFI:I:K%?E CHIRARE E?" ﬁ’&iﬁ !l[l%
= REREL 7 BRIE A E 0L H — R ARA
A - RFAHESRLE -




BRI

» https://tw.knowledge.yahoo.com/question/
quehttp://home.sbc.edu.hk/~tck/
4cproj0405/4c_04_05_11_14_36/sheng
%20zhang/te%20zheng.htmstion?
qid=1405121808215




